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BEER sy EMEAN | gwgw sy |CBREREHEE
— iRk kg 0.0 2.328| kg/kg 0 kg
Ay L 5612.4 2322 kg/L 13,030 kg
R Ty L 0.0 2463 kg/L 0 kg
1 KT8 L 16403.0 2489 kg/L 40,835 |kg
& Bk L 803.6 2585 kg/L 2,077 kg
A AEH L 0.0 2.710| kg/L 0 kg
= BEH L 0.0 2.996| kg/L 0 kg
CEil L 0.0 2.996| kg/L 0 kg
RIEEHAR(LPG) 1 2711.7 2999 kg/kg 8,132 kg
RIERAH R (LNG) 1 0.0 2703 kg/kg 0 kg
#MHHR m3 0.0 2.234| kg/m3 0 kg
9 kWh 3598392.0 0.344] kg/kWh 1,237,847 kg
Bofits MJ 0.0 0.057 kg/MJ 0 kg
—BRENRNEETSRAFIE) Fit 0.0 2765 ke/&rt 0 kg
R2EEHHE (A) 1,301,921 kg
H23EEFEHHE (B) 1,269,176 kg
HIEBEA R
(B) Xx6%=(C) 6 % L) 155
H33BEEEHHE (B)-(C)=(D) 1,193,026 kg
HEEEEELLRE (B)—(A) 32,745 kg
BEEEEELEE (D)—(A) 108,896 kg
A A DB KR
%?ﬁ% P ERHOHHRR YT
ERDER 1,237,847 95.08% :f%maﬁfﬁ
BEEY D BEAD 0 0.00% AHVILDE QEHH RO
AV DERH 13,030 1.00% =2} Bz Ot
HBHAADER 0 0.00% 1.00%
Z D1 51,044 3.92% 1%
&it 1,301,921 1
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